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Abayay says, he can dig adjacent to the border - 7720 IBR 92N

Overview

"X rules that if there is no other 712 in the other mw", he can dig a 712 adjacent to
the property line; according to one view (only) if the other field is m™2% 7wy 71K
and according to the *nR7 83°R even if it is N1MNM27 AWy,
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The 5''1 says that according to both versions of 28, who maintains 9210 -
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If the neighbor comes to dig a 912 afterwards he is required to distance his 712
the entire six 2515 from the original 2.

Summary
The second party must distance himself the entire six 219V (according to »2ax).

Thinking it over
Why does mipoin assume that the second party must distance himself six onov,>

perhaps he should only distance himself three o°now to allow a 2> for the first 712,
but no more?*

! See ‘Overview’. Presumably n901 is saying that even according to the 7"} that he may be 7m0 (according to **2x)
even to a N7 7MWwYn 77w, the same rule applies that the second party must distance himself six o°n9v, and he cannot
claim that his field is n112% 7wy so therefore we should split the distance.

2 See ‘Thinking it over’.

3 See footnote # 2.

4 See 2> "o 1"3p 0 vOWNT M2°N3 and W NbM.
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